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G.CO.C.9: Lines and Angles 1

1 Steve drew line segments ABCD, EFG, BF, and CF 3 In the diagram below, lines ¢, m, n, and p intersect
as shown in the diagram below. Scalene ABFC is line 7.
formed.
¢ m
A B C D
n P
112° 68°
E F G 78° 122° r

Which statement will allow Steve to prove
ABCD || EFG?

1) ZCFG= ZFCB

2) 4LABF = /BFC

3) ZEFB= /CFB

4) LCBF = /GFC

Which statement is true?

D (n

2) (p

3) mllp

4) mln

2 Inthe dia_gram below, FE bisects E at B, and GE
bisects BD at C.

4 Segment CD is the perpendicular bisector of AB at
E. Which pair of segments does not have to be
congruent?_

1) AD,BD

A B c D 2) AC,BC
3) AE,BE
y o 4 DE,CE

Which statement is always true?
1) A_B = D_C

2) FB=ERB

3) E bisects GE at C.

4) (14—C> bisects FE at B.




Regents Exam Questions G.CO.C.9: Lines and Angles 1 Name:

WWW.jmap.org

5 In the diagram below, AB | DEF, AE and BD 7 In the diagram below, CT || AR, and ACE and RC
intersect at C, m£B = 43°, and mZCEF = 152°. are drawn such that AC = RC.
A B
437
E
c
< c )
152° R
D E F
Which statement is true? < A R >
1) mzD =28°
2) m/A4=43° It m/ZECT = 75°, what is mZACR?
3) mZACD =171° 1) 30°
4) m«ZBCE =109° 2) 60°
3) 75°
4) 105°

6 In the diagram below, DB and AF intersect at point

C, and AD and FBE are drawn. -y e
8 As shown in the diagram below, ABC || EFG and

BF = EF.

E
If mLCBF = 42.5°, then mZEBF is

IfAC=6,DC=4, FC=15, m£D = 65°, and 1) 42.5°
mZ/CBE = 115°, what is the length of CB? 2) 68.75°
1) 10 3) 95°

2) 12 4) 137.5°
3) 17

4) 225
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9 In the diagram below, AEFB||CGD, and GE and 11 In the diagram below, FAD || EHC, and ABH and
GF are drawn. BC are drawn.
A E F B _ f A E) _
B
c G D “E H C >
If m/EFG = 32° and mZ4EG = 137°, what is IfmAFAB = 48° and mZECB = 18°, what is
mZEGF? mZABC?
1 1r° 1) 18°
2) 43° 2) 48°
3) 75° 3)  66°
4) 105° 4) 114°
10 In the diagram below, ABCD || EHK , and MBHP 12 As shown in the diagram below, JKL || MNOP,
and NCHL are drawn such that BC = BH . KRN , and OR = ON.
L P
\ /
<A B C D, o
K
R
< H >
E K N
L P
J M
Ilf)méljlng = 62°, what is mZPHK? If mZPOR = 116°, what is m/LKN ?
¢ 1) 58
2) 620 2) 116°
Z) 62° 3) 1220
) 56 4) 128°
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13 In the diagram below, AFKB || CHLM , FH = LH
FL =~ KL, and LF bisects ZHFK.

]
AN

E

K B
L M

Which statement is always true?
1) 2(m£LHLF)=m/CHE

2) 2(mLFLK)=m/LKB

3) mZLAFD =mZBKL

4) msDFK=m/KLF

14 In the diagram below, EF intersects AB and CD at
G and H, respectively, and G/ is drawn such that

GH = IH .
E
A G B
c D
H |
F

If mZEGB = 50° and m/DIG = 115°, explain why
AB | CD.

Name:
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ANS: 1
Alternate interior angles

REF: 061517geo

ANS: 1 REF: 011606geo
ANS: REF: 081601geo
ANS: REF: 081611geo
ANS: REF: 061802geo
ANS:

s
4

£=10

REF: 061617geo
ANS: 1
180—2(75) =30

REF: 082407geo
ANS: 2

[ 3 -3
e
[ 19}

-
Y

REF: 011818geo

ANS: 4 REF: 081801geo
ANS: 4
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REF: 012421geo
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ID: A

ANS: 3
180—(48+66) = 180— 114 = 66

REF: 012001geo

ANS: 3

L P

A
i\ 1160

K 64|
RLF T

Sg
N

e
J M

REF: 012513geo
ANS: 4 REF: 062318geo
ANS:

Since linear angles are supplementary, mZGIH = 65°. Since GH = IH ,mZGHI = 50° (180 — (65 + 65)). Since
Z/EGB = Z/GHI, the corresponding angles formed by the transversal and lines are congruent and AB || CD.

REF: 061532geo



